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— </Lifestyle>

—<Individual>

<ld>psc22=</id>
— <Observation time="0000-00-00">
<smoking>

<smoking_habit value="E2¥E">
<Numeric_value>
<Float_value value=1 unit="" />
</Numeric_value>
</smoking_habit>
<number_of_cigarettes value="24<%{">
<Numeric_value>
<Float_value value=20.0 unit=" per day " />
</Numeric_value>
</ number_of_cigarettes value>
<smoking_years value="4E (E24{E)">
<Numeric_value>
<Float_value value=10.0 unit="years" />
</Numeric_value>
</smoking_years>

</smoking>
<drinking>

<drinking_habit value="gR;&">
<Numeric_value>
<Float_value value=0 unit=""/>
</Numeric_value>
</drinking_habit>

<drinking>
— </Observation
= </Individual>




